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	He (                ) (            ) that these data are inaccurate.

	(                ) prices are falling this month.

	The building was (                ) after the fire.

	What's the (                ) of our order?

	The company will cover travel (                ).

	The conference (                ) on environmental issues.

	The company has a research (                ) in Miami.

	You must (                ) permission from the publisher.

	We have a (                ) for quality.

	You can buy these products at (                ) stores.

	Ms. Hunter (                ) ten thousand dollars to the school.

	We have to (                ) the president.

	We should (                ) the profits equally among us.

	I got a 55-dollar (                ) for illegal parking.

	I (                ) about their service.

	Each product is designed for a (                ) purpose.

	This model is currently out of (                ).

	We are (                ) that our sales network is insufficient.

	He gave us a (                ) outline of the plan.

	The factory is operating at (                ) capacity.


